Filomat 31:14 (2017), 4507–4513 https://doi.org/10.2298/FIL1714507L



Published by Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.rs/filomat

(1)

# Some Extensions of the Prabhu-Srivastava Theorem Involving the (*p*, *q*)-Gamma Function

Ji-Cai Liu<sup>a</sup>, Jichun Liu<sup>b</sup>

<sup>a</sup>College of Mathematics and Information Science, Wenzhou University, Wenzhou 325035, PR China <sup>b</sup>School of Mathematics (Zhuhai), Sun Yat-Sen University, Zhuhai 519000, PR China

**Abstract.** In this paper, we obtain some limit formulas for derivatives of (p,q)-gamma function and (p,q)-digamma function at their poles. These limit formulas extend the Prabhu-Srivastava theorem involving gamma function and digamma function.

# 1. Introduction

It is well-known that for all complex numbers  $x \neq 0, -1, -2, \cdots$ , the gamma function and digamma function [1, pp. 255] are defined by

$$\Gamma(x) = \lim_{n \to \infty} \frac{n! n^x}{x(x+1) \cdots (x+n)} \quad \text{and} \quad \psi(x) = \frac{\Gamma'(x)}{\Gamma(x)},$$

respectively.

A. Prabhu and H.M. Srivastava [8] have considered the limits of ratios between two gamma functions and digamma functions at their poles  $x = 0, -1, -2, \cdots$ , and obtained some nice formulas:

**Theorem 1.1.** ([8, Theorem 1 and 2]) For non-negative integer k and positive integers n and m, we have

$$\lim_{x \to -k} \frac{\Gamma(nx)}{\Gamma(mx)} = (-1)^{(n-m)k} \frac{m}{n} \cdot \frac{(mk)!}{(nk)!},$$

and

$$\lim_{x\to -k}\frac{\psi(nx)}{\psi(mx)}=\frac{m}{n}.$$

2010 Mathematics Subject Classification. Primary 33D05; Secondary 33B15

Keywords. (p,q)-Gamma function; q-Gamma function; Faà di Bruno formula; Prabhu-Srivastava theorem; Derivative

Received: 06 April 2016; Accepted: 20 July 2016

Communicated by Hari M. Srivastava

Research supported by Natural Science Foundation of Fujian Province (No. 2015J05002), and Fujian Provincial Foundation of Education and Research for Young Teachers (No. JA15531).

Email addresses: jc2051@163.com (Ji-Cai Liu), liujc1982@126.com (Jichun Liu)

Applying (1) and Gauss-Legendre multiplication formula, they also obtained an interesting product identity for the gamma function:

$$\prod_{j=1}^{n-1} \Gamma(-k+\frac{j}{n}) = (-1)^{(n-1)k} n^{nk-\frac{1}{2}} (2\pi)^{\frac{1}{2}(n-1)} \frac{k!}{(nk)!},$$

for non-negative integer *k* and positive integer  $n \ge 2$ .

In 2013, F. Qi [9] considered the limits of ratios between two derivatives of gamma function and digamma function at their poles.

**Theorem 1.2.** ([9, Theorem 1.2]) For non-negative integers s, k and positive integers n, m, we have

$$\lim_{x \to -k} \frac{\Gamma^{(s)}(nx)}{\Gamma^{(s)}(mx)} = (-1)^{(n-m)k} \left(\frac{m}{n}\right)^{s+1} \cdot \frac{(mk)!}{(nk)!},\tag{2}$$

and

$$\lim_{x \to -k} \frac{\psi^{(s)}(nx)}{\psi^{(s)}(mx)} = \left(\frac{m}{n}\right)^{s+1}.$$
(3)

**Remark.** Theorem 1.2 is contained in the Prabhu-Srivastava theorem (Theorem 1.1) by obvious use of the L'Hôpital's rule for limits.

For a non-negative integer *p*, the *p*-gamma function is defined by

$$\Gamma_p(x) = \frac{p! p^x}{x(x+1)\cdots(x+p)},\tag{4}$$

which was first introduced by Euler. Similarly, the *p*-digamma function is given by

$$\psi_p(x) = \frac{\Gamma'_p(x)}{\Gamma_p(x)}.$$

(-)

Note that  $\lim_{p\to\infty} \Gamma_p(x) = \Gamma(x)$  and  $\lim_{p\to\infty} \psi_p(x) = \psi(x)$ , and both  $\Gamma_p(x)$  and  $\psi_p(x)$  are analytic on the complex plane except for  $x = 0, -1, -2, \cdots, -p$ .

Recently, L. Yin and L.-G. Huang [5] provided alternative proofs of (1) and (3) by establishing the following results:

**Theorem 1.3.** ([5, Theorem 2.3 and 2.6]) Let k, p, s be non-negative integers and m, n be positive integers such that  $mk, nk \le p$ . Then

$$\lim_{x \to -k} \frac{\Gamma_p(nx)}{\Gamma_p(mx)} = \frac{m}{n} (-p)^{(m-n)k} {p \choose nk} / {p \choose mk},\tag{5}$$

and

$$\lim_{x \to -k} \frac{\psi_p^{(s)}(nx)}{\psi_p^{(s)}(mx)} = \left(\frac{m}{n}\right)^{s+1}.$$
(6)

Letting  $p \rightarrow \infty$  in (5) and (6) and noting that

$$\lim_{p \to \infty} p^{(m-n)k} \binom{p}{nk} / \binom{p}{mk} = \frac{(mk)!}{(nk)!},$$

we are led to (1) and (3). They also posed the following conjecture:

**Conjecture 1.4.** ([5, Conjecture 2.9]) Let *s*, *k* and *p* be non-negative integers and *m*, *n* be positive integers such that  $mk, nk \le p$ . Then

$$\lim_{x \to -k} \frac{\Gamma_p^{(s)}(nx)}{\Gamma_p^{(s)}(mx)} = \left(\frac{m}{n}\right)^{s+1} (-p)^{(m-n)k} {p \choose nk} / {p \choose mk}.$$
(7)

It is not hard to see that (7) reduces to (2) when  $p \rightarrow \infty$ .

**Remark.** Theorem 1.3 and Conjecture 1.4 can be considered as the *p*-extensions of the Prabhu-Srivastava theorem (Theorem 1.1).

F. H. Jackson defined the following q-gamma functions [4, (I.35), pp.353]:

$$\Gamma_q(x) = \frac{(q;q)_{\infty}}{(q^x;q)_{\infty}} (1-q)^{1-x} \quad \text{for } 0 < q < 1,$$

and

$$\Gamma_q(x) = \frac{(q^{-1}; q^{-1})_{\infty}}{(q^{-x}; q^{-1})_{\infty}} (q-1)^{1-x} q^{\binom{x}{2}} \quad \text{for } q > 1,$$
(8)

where  $(a;q)_0 = 1$  and  $(a;q)_n = \prod_{k=0}^{n-1} (1 - aq^k)$ . This function have many analogues of the classical facts about the gamma function [2, 7]. Similarly, the *q*-digamma function is given by

$$\psi_q(x) = \frac{\Gamma'_q(x)}{\Gamma_q(x)}$$

It is well-known that  $\lim_{q\to 1} \Gamma_q(x) = \Gamma(x)$  and  $\lim_{q\to 1} \psi_q(x) = \psi(x)$ , and both  $\Gamma_q(x)$  and  $\psi_q(x)$  have the poles at  $x = 0, -1, -2, \cdots$ .

V.B. Krasniqi, H.M. Srivastava and S.S. Dragomir[3] considered the following (p, q)-gamma function and (p, q)-digamma function:

$$\Gamma_{p,q}(x) = \frac{q^{\binom{x-1}{2}}[p]_q^x[p]_q!}{[x]_q[x+1]_q\cdots[x+p]_q} \quad \text{for } q > 1,$$
(9)

and  $\psi_{p,q}(x) = \Gamma'_{p,q}(x)/\Gamma_{p,q}(x)$ , where p is a non-negative integer and  $[x]_q = (1 - q^{-x})/(1 - q^{-1})$ . They have also obtained some complete monotonicity properties of the (p,q)-gamma function. Both  $\Gamma_{p,q}(x)$  and  $\psi_{p,q}(x)$  have the poles at  $x = 0, -1, \dots, -p$ . Note that (9) reduces to (4) when  $q \to 1$ , and reduces to (8) when  $p \to \infty$ .

In this paper, we shall establish some extensions of the Prabhu-Srivastava theorem (Theorem 1.1) involving the (p, q)-gamma function. We will see that all of Theorem 1.1, 1.2, 1.3 and Conjecture 1.4 are special cases of these theorems.

#### 2. Statements of the Results

We can rewrite (9) as

$$\Gamma_{p,q}(x) = \frac{(1-q^{-1})(q^{-1};q^{-1})_p}{(q^{-x};q^{-1})_{p+1}} \left(\frac{1-q^{-p}}{1-q^{-1}}\right)^x q^{\binom{x-1}{2}} \quad \text{for } q > 1.$$
(10)

It is clear that the definition (10) is equivalent to

$$\Gamma_{p,q}(x) = \frac{(1-q)(q;q)_p [p]_q^x q^{-\binom{x-1}{2}}}{(q^x;q)_{p+1}} \quad \text{for } q < 1,$$
(11)

where  $[p]_q = (1 - q^p)/(1 - q)$ . In what follows we will use the definition (11) for  $\Gamma_{p,q}(x)$ .

**Theorem 2.1.** Let *s*, *k* and *p* be non-negative integers and *n*, *m* be positive integers such that  $nk, mk \le p$ . Then

$$\lim_{x \to -k} \frac{\psi_{p,q}^{(s)}(nx)}{\psi_{p,q}^{(s)}(mx)} = \left(\frac{m}{n}\right)^{s+1}.$$
(12)

Letting  $q \rightarrow 1$  in (12), we obtain (6).

**Theorem 2.2.** Let *s*, *k* and *p* be non-negative integers and *n*, *m* be positive integers such that  $nk, mk \le p$ . Then

$$\lim_{x \to -k} \frac{\Gamma_{p,q}^{(s)}(nx)}{\Gamma_{p,q}^{(s)}(mx)} = \left(\frac{m}{n}\right)^{s+1} \left(-q[p]_q\right)^{(m-n)k} {p \brack nk}_q / {p \brack mk}_q'$$
(13)

where  $[p]_q = (1 - q^p)/(1 - q)$  and the q-binomial coefficient is given by

$$\begin{bmatrix} a \\ b \end{bmatrix}_q = \frac{(q;q)_a}{(q;q)_b(q;q)_{a-b}}$$

Letting  $q \rightarrow 1$  in (13), we obtain (7), and so we confirm Conjecture 1.4.

**Theorem 2.3.** Let *a*, *b* be positive integers and *s*, *k* and *p* be non-negative integers such that  $k \le p$ . Then

$$\lim_{x \to -k} \frac{\Gamma_{p,q^a}^{(s)}(x)}{\Gamma_{p,q^b}^{(s)}(x)} = \frac{b}{a} q^{(a-b)(k+1)^2} \left(\frac{1-q^a}{1-q^b}\right)^{k+1} \left(\frac{1-q^{bp}}{1-q^{ap}}\right)^k \begin{bmatrix} p\\ k \end{bmatrix}_{q^a} / \begin{bmatrix} p\\ k \end{bmatrix}_{q^b}.$$
(14)

### 3. Proof of the Results

In order to prove the results, we need some important lemmas.

Lemma 3.1. (Faà di Bruno) If g and f are functions with a sufficient number of derivatives, then

$$\frac{d^s}{dx^s}g(f(x)) = \sum_{\substack{1:r_1+2:r_2+\dots+s:r_s=s\\r_1,r_2,\dots,r_s\ge 0}} \frac{s!}{r_1!\cdot r_2!\cdots r_s!}g^{(r_1+r_2+\dots+r_s)}(f(x))\left(\frac{f^{(1)}(x)}{1!}\right)^{r_1}\cdots\left(\frac{f^{(s)}(x)}{s!}\right)^{r_s}.$$
(15)

This is the famous Faà di Bruno formula [6].

**Lemma 3.2.** Let *F* and log *F* be functions with a sufficient number of derivatives. For any positive integer s, there exist some coefficients  $a(r_1, r_2, \dots, r_s)$  independent of *x* such that

$$F^{(s)}(x) = F(x) \sum_{\substack{1:r_1+2:r_2+\dots+s:r_s=s\\r_1,r_2,\dots,r_s\geq 0}} a(r_1,r_2,\dots,r_s) \left(f^{(1)}(x)\right)^{r_1} \cdots \left(f^{(s)}(x)\right)^{r_s},$$
(16)

where  $f(x) = \log F(x)$ .

*Proof.* Letting  $g(x) = e^x$  and  $f(x) = \log F(x)$  in (15), we immediately get

$$F^{(s)}(x) = F(x) \sum_{\substack{1:r_1+2:r_2+\cdots+s:r_s=s\\r_1,r_2,\cdots,r_s\geq 0}} \frac{s!}{r_1!\cdots r_s!} \left(\frac{f^{(1)}(x)}{1!}\right)^{r_1}\cdots \left(\frac{f^{(s)}(x)}{s!}\right)^{r_s}.$$

This completes the proof.  $\Box$ 

Proof of Theorem 2.1. By (11), we have

$$\psi_{p,q}^{(s-1)}(x) = \frac{d^{s-1}}{dx^{s-1}}\log[p]_q + \frac{d^{s-1}}{dx^{s-1}}\left(\frac{3}{2} - x\right)\log q - \sum_{i=0}^p \frac{d^s}{dx^s}\log(1 - q^{x+i}).$$
(17)

Letting  $g(x) = \log x$  and  $f(x) = 1 - q^{i+x}$  in (15) gives

$$\frac{d^s}{dx^s}\log(1-q^{x+i}) = -\left(\log q\right)^s \sum_{\substack{1:r_1+2:r_2+\dots+s:r_s=s\\r_1,r_2,\dots,r_s\geq 0}} \frac{s!}{r_1!\cdot r_2!\cdots r_s!} \cdot \frac{(R-1)!}{(1!)^{r_1}(2!)^{r_2}\cdots (s!)^{r_s}} \cdot \frac{q^{(x+i)R}}{(1-q^{x+i})^R},$$
(18)

where  $R = r_1 + r_2 + \dots + r_s$ . Since  $1 \cdot r_1 + 2 \cdot r_2 + \dots + s \cdot r_s = s$ , *R* has the maximum value R = s when  $r_1 = s$  and  $r_2 = \dots = r_s = 0$ , and so we can write (18) in the form

$$\frac{d^s}{dx^s}\log(1-q^{x+i}) = -(\log q)^s \sum_{R=0}^s C_s(R) \frac{q^{(x+i)R}}{(1-q^{x+i})^R},$$
(19)

where  $C_s(R)$  is independent of x and  $C_s(s) \neq 0$ . Note that (19) has the pole at x = -i.

Combining (17) and (19), we have for  $s \ge 1$  and  $nk, mk \le p$ ,

$$\lim_{x \to -k} \frac{\psi_{p,q}^{(s-1)}(nx)}{\psi_{p,q}^{(s-1)}(mx)} = \lim_{x \to -k} \frac{q^{n(x+k)s}}{(1-q^{n(x+k)})^s} \cdot \frac{(1-q^{m(x+k)})^s}{q^{m(x+k)s}}.$$

Noting that

$$\lim_{x \to -k} \frac{1 - q^{m(x+k)}}{1 - q^{n(x+k)}} = \frac{m}{n},$$
(20)

we obtain

$$\lim_{x \to -k} \frac{\psi_{p,q}^{(s-1)}(nx)}{\psi_{p,q}^{(s-1)}(mx)} = \left(\frac{m}{n}\right)^s \quad \text{for } s \ge 1,$$

which is equivalent to (12).  $\Box$ *Proof of Theorem* 2.2. We first prove the case s = 0.

$$\begin{split} &\lim_{x \to -k} \frac{\Gamma_{p,q}(nx)}{\Gamma_{p,q}(mx)} \\ &= q^{\binom{nk+2}{2} - \binom{nk+2}{2}} [p]_q^{(m-n)k} \frac{(q^{-mk};q)_{mk}(q;q)_{p-mk}}{(q^{-nk};q)_{nk}(q;q)_{p-nk}} \lim_{z \to -k} \frac{1 - q^{m(x+k)}}{1 - q^{n(x+k)}}. \end{split}$$

Applying (20) and noting that

$$(q^{-i};q)_i = (-1)^i q^{-\binom{i+1}{2}} (q;q)_i,$$

we obtain

$$\lim_{x \to -k} \frac{\Gamma_{p,q}(nx)}{\Gamma_{p,q}(mx)} = \frac{m}{n} \left(-q[p]_q\right)^{(m-n)k} \begin{bmatrix} p\\ nk \end{bmatrix}_q / \begin{bmatrix} p\\ mk \end{bmatrix}_q.$$
(21)

Let  $f_{p,q}(x) = \log \Gamma_{p,q}(x)$ . By (16), we have

$$\Gamma_{p,q}^{(s)}(x) = \Gamma_{p,q}(x) \sum_{\substack{1:r_1+2:r_2+\dots+s:r_s=s\\r_1,r_2,\dots,r_s\geq 0}} a(r_1,r_2,\dots,r_s) \left(f_{p,q}^{(1)}(x)\right)^{r_1} \cdots \left(f_{p,q}^{(s)}(x)\right)^{r_s}.$$
(22)

Noting that  $f_{p,q}^{(d)}(x) = \psi_{p,q}^{(d-1)}(x)$  and then using (12), we get

$$\lim_{x \to -k} \frac{f_{p,q}^{(d)}(nx)}{f_{p,q}^{(d)}(mx)} = \left(\frac{m}{n}\right)^d \quad \text{for } d \ge 1.$$
(23)

It follows from (22) and (23) that

$$\lim_{x \to -k} \frac{\Gamma_{p,q}^{(s)}(nx)}{\Gamma_{p,q}^{(s)}(mx)} = \lim_{x \to -k} \frac{\Gamma_{p,q}(nx)}{\Gamma_{p,q}(mx)} \cdot \left(\frac{m}{n}\right)^{s}.$$
(24)

The proof of (13) then directly follows from (21) and (24).  $\Box$  *Proof of Theorem 2.3.* We first prove the case *s* = 0.

$$\lim_{x \to -k} \frac{\Gamma_{p,q^a}(x)}{\Gamma_{p,q^b}(x)} = q^{(a-b)\binom{k+2}{2}} \left(\frac{1-q^a}{1-q^b}\right)^{k+1} \left(\frac{1-q^{bp}}{1-q^{ap}}\right)^k \frac{(q^a;q^a)_p(q^{-bk};q^b)_k(q^b;q^b)_{p-k}}{(q^b;q^b)_p(q^{-ak};q^a)_k(q^a;q^a)_{p-k}} \cdot \lim_{x \to -k} \frac{1-q^{b(x+k)}}{1-q^{a(x+k)}} = \frac{1-q^{b(x+k)}}{1-q^{a(x+k)}}$$

Using (20) and noting that

$$\frac{(q^a;q^a)_p(q^{-bk};q^b)_k(q^b;q^b)_{p-k}}{(q^b;q^b)_p(q^{-ak};q^a)_k(q^a;q^a)_{p-k}} = q^{(a-b)\binom{k+1}{2}} \begin{bmatrix} p\\ k \end{bmatrix}_{q^a} / \begin{bmatrix} p\\ k \end{bmatrix}_{q^b},$$

we obtain

$$\lim_{x \to -k} \frac{\Gamma_{p,q^a}(x)}{\Gamma_{p,q^b}(x)} = \frac{b}{a} q^{(a-b)(k+1)^2} \left(\frac{1-q^a}{1-q^b}\right)^{k+1} \left(\frac{1-q^{bp}}{1-q^{ap}}\right)^k \begin{bmatrix} p\\ k \end{bmatrix}_{q^a} / \begin{bmatrix} p\\ k \end{bmatrix}_{q^b}.$$
(25)

In order to prove (14), by (16) and (25), it suffices to prove that

$$\lim_{x \to -k} \frac{\left(\log \Gamma_{p,q^{a}}(x)\right)^{(s)}}{\left(\log \Gamma_{p,q^{b}}(x)\right)^{(s)}} = 1 \quad \text{for } s \ge 1.$$

Replacing q by  $q^a$  in (19) yields

$$\frac{d^s}{dx^s}\log(1-q^{a(x+i)}) = -(a\log q)^s \sum_{R=0}^s C_s(R) \frac{q^{a(x+i)R}}{(1-q^{a(x+i)})^R}.$$

Similarly to the proof of Theorem 2.1, we have

$$\lim_{x \to -k} \frac{\left(\log \Gamma_{p,q^a}(x)\right)^{(s)}}{\left(\log \Gamma_{p,q^b}(x)\right)^{(s)}} = \lim_{x \to -k} \left(\frac{a}{b}\right)^s \cdot \frac{q^{a(x+k)s}}{(1-q^{a(x+k)})^s} \cdot \frac{(1-q^{b(x+k)})^s}{q^{b(x+k)s}} = 1 \quad (by \ (20)).$$

This completes the proof.  $\Box$ 

**Acknowledgments.** The authors would like to thank the referee for valuable comments which improved the presentation of the paper.

## References

- M. Abramowitz and I. A. Stegun, Handbook of Mathematical Functions with Formulas, Graphs, and Mathematical Tables, National Bureau of Standards, Applied Mathematics Series 55, 9th printing, Washington, 1970.
- [2] R. Askey, The *q*-gamma and *q*-beta functions, Appl. Anal. 8 (1978), 125–141.
- [3] V.B. Krasniqi, H.M. Srivastava and S.S. Dragomir, Some complete monotonicity properties for the (*p*, *q*)-gamma function, Appl. Math. Comput. 219 (2013), 10538–10547.
- [4] G. Gasper and M. Rahman, Basic hypergeometric series, Cambridge University Press, 2004.
- [5] L. Yin and L.-G. Huang, Limit formulas related to the p-gamma and p-polygamma functions at their singularities, Filomat 29 (2015), 1501–1505.
- [6] W. P. Johnson, The curious history of Faà di Bruno's formula, Amer. Math. Monthly 109 (2002), 217–234.
- [7] D.S. Moak, The *q*-gamma function for q > 1, Aequationes Math. 20 (1980), 278–285.
- [8] A. Prabhu and H.M. Srivastava, Some limit formulas for the gamma and psi (or digamma) functions at their singularities, Integral Transforms Spec. Funct. 22 (2011), 587–592.
- [9] F. Qi, Limit formulas for ratios between derivatives of the gamma and digamma functions at their singularities, Filomat 27 (2013), 601–604.